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V= 8.58 = 8.58 | m3
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(M-30, t=100mm) | A= 214.53 = 214.53 | m2 214.5
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(m) (m) (m2) (m) (m) (m?) (m) (m) (m?)
NO. 0 NO.O +  0.00 0. 00 0. 00
NO.0+6.50 |[NO.O +  6.50 6. 50 3. 10 1.55 10. 08
NO.0+17.9 |NO.O + 17.90 11. 40 5. 50 4. 30 49. 02
NO. 1 NO.1 +  0.00 2.10 6. 30 5.90 12. 39
NO. 1+4. 5 NO.1 +  4.50 4. 50 2.55 4.43 19. 94
NO. 2 NO.2 +  0.00 15. 50 3. 10 2.83 43. 87
NO. 2+7. 6 NO.2 +  7.60 7.60 3.70 3.40 25. 84
NO.2+11.5  |NO.2 + 11.50 3.90 2.80 3.25 12. 68
NO.2+11.5 |NO.2 + 11.50 0. 00 1.70
NO. 3 NO.3 +  0.00 8. 50 3.20 2.45 20. 83
NO. 3+7. 5 NO.3 +  7.50 7.50 2.10 2.65 19. 88
&t 67. 50 214. 53
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214.53 X 0.10

1.20 + 4.00
+ 2.80

b

26.00 + 54. 00

21.45

21.45

88. 00

#*No. 0+6. 5~No. 0+17. 9/ : 1. 2m, 4. 0m, No.2~NO. 3+7. 57 : 26. Om,

No. 0+17.90~NO. 3+7. 545 : 54. Om, No. 3+7.50 : 2. 8m

REEMEUEL L
21. 45

BOE R LD
21.45

88. 00

21.45

21.45

21.45

21.45

(—XE0)
m3 | 21.5
m | 88.0
m3 | 21.5
m3 | 21.5
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(m) (m) (m2) (m) (m) (m®) (m?) (m?) (m*)
NO. 0 NO.O  + 0.00 0. 00 0. 00
NO. 0+6. 50 NO.O  + 6. 50 6. 50 3.10 1.55 10. 08
NO. 0+17.9 NO.O + 17.90 11. 40 5.50 4. 30 49. 02
NO. 1 NO.1 + 0.00 2. 10 6. 30 5.90 12. 39
NO. 1+4. 5 NO.1 + 4.50 4.50 2.5b 4.43 19. 94
NO. 2 NO.2  + 0. 00 15. 50 3.10 2.83 43. 87
NO. 2+7. 6 NO.2 + 7. 60 7. 60 3.70 3.40 25.84
NO. 2+11. 5 NO.2 + 11.50 3.90 2. 80 3.25 12. 68
NO. 2+11. 5 NO.2 + 11.50 0.00 1.70
NO. 3 NO.3 + 0. 00 8.50 3.20 2.45 20. 83
NO. 3+7. 5 NO.3  + 7.50 7.50 2.10 2.6b 19. 88
ot 67. 50 214. 53
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